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PART – A 
(Objective Type) 

Choose appropriate answer from the options in the questions. One mark each.  
(60 × 1 = 60 marks) 

1. Choose the correct Russian letter missing in the word  
a) o b) a 
c) y d) e 

Entrance Examination for Admission to the P.G. Courses in the Teaching 
Departments, 2022 

CSS 
RUSSIAN 

 

General Instructions 

1. The Question Paper is having two Parts — Part ‘A’ Objective type (60%) & Part ‘B’ 
Descriptive type (40%). 

2. Objective type questions which carry 1 mark each are to be (✓) ‘tick marked’ in the 
response sheets against the appropriate answers provided. 

3. 8 questions are to be answered out of 12 questions carrying 5 marks each in Part ‘B’. 
4. Negative marking : 0.25 marks will be deducted for each wrong answer 

in Part ‘A’. 
Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate  

in Figures         Register 
Number 

in words         
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2. Mark the gender of the word  

a) masculine b) neuter               
c) feminine d) common 

3. Mark the gender of the word  
a) masculine  
b) feminine  
c) neuter                
d) common 
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4. The word  denotes ————gender  
a) feminine b) masculine  
c) neuter d) none of these 

5. Mark the gender if the word  
a) neuter b) feminine  
c) masculine d) none of these 

6. Mark the plural form of the word   

a)  b)  

c)  d)  

7. Mark the singular form of the word  
a)  b)  

c)  d)   

8. Choose the word combination denoting plural form:  

a)  b)  

c)  d)  

9. Which of the following sentence is not correct?  

a)  b)  

c)  d)  

10. Choose correctly spelt word from those given below:  
a)  b)  
c)  d)  

11. Choose suitable noun to complete the sentence:  

a)  b)  

c)  d)   
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12. Mark the wrongly spelt word: 
a)  b)  

c)  d)  

13. Mark the sentence denoting  

a)  b)  

c)  d) None of these  

14. Which of the word given below denotes singular gender? 
a)  b)  
c)  d)  

15. Mark the appropriate form of the noun to complete the sentence given below:  

 
a)  b)  

c)  d)  

16. Mark the correct pronoun missing in the sentence: 

 
a)  b)  
c)  d)  

17. Mark the correct form of the word combination given to complete the sentence:  

 
a)  b)  

c)  d)  

18. Mark the correct form of possessive noun:  

 
a)  b)  
c)  d)  
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19. Which of the noun given below denotes plural form?  
a)  b)  

c)  d)  

20. Mark the correct verb to fill the blank in the sentence:  

 
a)  b)  

c)  d)  

21. Mark the correct verb form in the sentence:  
a)  b)  
c)  d)  

22. Mark with appropriate form of adjective: 

 
a)  b)  
c)  d)  

23. Choose correct preposition missing in: 

 
a) k b) OT 
c) y d) c  

24. Choose correct form of the verb missing in: 

 
a)  b)  
c)  d)  

25. Choose the correct preposition missing in the following sentence 

 
a)  b) c 
c) OT  d) k 
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26. Choose suitable verb of motion to fill the blank: 

 
a)  b)  
c)  d)  

27. Choose the imperfective aspect of the verb: 

 
a)  b)  
c)  d)   

28. Choose the imperative form of the verb  
a)  b)  

c)  d)  

29. Choose the correct combination of words from the following: 
a)  b)  

c)  d)  

30. Mark which of the given combination is correct: 

a)  b)  

c)  d)  

31. Mark the incorrect combination: 

a)  b)  

c)  d)  

32. Mark the correct verb form to complete the sentence:  
a)  b)  
c)  d)  
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33. Mark correct form of the missing pronoun:  
a)  b)  

c)  d)  

34. Choose the correct sentence from those given below: 
a)  b)  

c)  d)  

35. The comparative form of adjective  is ————  
a)  b)  
c)  d)   

36. Mark the correct form of the pronoun  given in the following sentence: 

 
a)  b)  
c)  d)  

37. Mark correct form of the pronoun  in the following sentence: 

 
a)  b)  
c)  d)  

38. Mark the correct combination: 

a)  b)  

c)  d)  

39. Mark which sentence denotes plural form: 
a)  b)  

c)  d)  
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40. Mark which sentence is incorrect: 

a)  b)  

c)  d)  

41. Mark correct interrogative word missing in the sentence:  
a)  b)  
c)  d)   

42. Mark the incorrect form of conjugation of verb  
a)  b)  

c)  d)  

43. Mark the incorrect combination: 
a)  b)  

c)  d)  

44. Mark the correct form of pronoun   

a)  b)  
c)  d)  

45. Choose the apt word to complete the saying:  
a)  b)  
c)  d)  

46. Choose the correct antonym of the underlined words:  
a)  b)  
c)  d)  
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47. Mark suitable words to complete the proverb:  

a)  b)  
c)  d)  

48. Choose the imperative form of the verb  

a)  b)  
c)  d)  

49. Choose the correct form of word combination:  
a)  b)  

c)  d)   

50. Which of the following phrase is incorrect? 

a)  b)  
c)  d)  

51. Mark the correct form of indirect speech of the following sentence: 

 
a)  
b)  
c)  
d)  

52. What is the Russian word for “a medical shop”? 

a)  b)  
c)  d)  

53. Which of the following sentence is incorrect? 

a)  b)  

c)  d)  
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54. Who wrote the Russian poem  

a)  b)  

c)  d)  

55. Who is the author of the Russian story  
a)  b)  

c)  d)   

56. Who wrote the poem  
a)  b)  
c)  d)  

57. Mark which of the following verb is of Perfective aspect:  
a)  b)  

c)  d)  

58. Mark the carted form of the personal pronoun  in the sentence: 

 
a)  b)  
c)  d)  

59. Mark appropriate interrogative word:   
a)  b)  
c)  d)  

60.  is a Russian story written by ————.  
a)  b)  
c)  d)  
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ANSWER SHEET — PART – A 

1 A B C D E  21 A B C D E  41 A B C D E 
 

2 A B C D E  22 A B C D E  42 A B C D E 
 

3 A B C D E  23 A B C D E  43 A B C D E 
  

4 A B C D E  24 A B C D E  44 A B C D E 
 

5 A B C D E  25 A B C D E  45 A B C D E 
 

6 A B C D E  26 A B C D E  46 A B C D E 
 

7 A B C D E  27 A B C D E  47 A B C D E 
 

8 A B C D E  28 A B C D E  48 A B C D E 
 

9 A B C D E  29 A B C D E  49 A B C D E 
 

10 A B C D E  30 A B C D E  50 A B C D E 
 

11 A B C D E  31 A B C D E  51 A B C D E 
 

12 A B C D E  32 A B C D E  52 A B C D E 
 

13 A B C D E  33 A B C D E  53 A B C D E 
 

14 A B C D E  34 A B C D E  54 A B C D E 
 

15 A B C D E  35 A B C D E  55 A B C D E 
 

16 A B C D E  36 A B C D E  56 A B C D E 
 

17 A B C D E  37 A B C D E  57 A B C D E 
 

18 A B C D E  38 A B C D E  58 A B C D E 
 

19 A B C D E  39 A B C D E  59 A B C D E 
 

20 A B C D E  40 A B C D E  60 A B C D E 
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RUSSIAN 

PART – B 
(Descriptive Type) 

Answer any eight questions.    (8 × 5 = 40 Marks) 

1. . 

2. . 

3.  

4.  

5.  

6.  

7.  

8.  

9.  

10.  

11.  

12.  

———————— 
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